A

| Bikes 4 BL= 135>
1 B % Wikl | 85.8 w7
2 K 0l 1cU 81.8 "7
3 NG | N iR 81.8 7
4 Mleils | ZHEREL | 80.5 7
5 fhiagds | s NEL | 80.5 5
6 Tk HWHE | 80.3
7 falpe | o —#&L [ 80.3
8 IR | MsAl—FL | 80.3
9 R 292F} 79.3
10 o AEE ICU 78.3
11 [ HA P EL 78.0
12 Yoe | LifiE—FL | 76.8
13 KRR R R} 76.5
14 AV ICU 76. 3
15 BRE 1 228 73.5
16 P SF 5 292F} 69. 8

g4

hikes 4 Ll a1
1 %M | SRR ERL | 78.3 "7
2 AR | RIEZEL [ 78.0 P75
3 H | &FEZFR | 78.0 7
4 i Hams | 77.8 7
5 ] HEl 7.3
6 KRk | SRR FE | 77.0
7 2 JLEL 76.8
8 AEE | &REYFR | 76.8
9 X g JLEL 76.5
10 EH | AREZE | 76.0
11 AR RIER2EERL | 75.0
12 e | AFESE | 74.8
13 Byl | &RHEER | 74.8
14 YR GEL 74. 5
15 KEE HEL 73.3
16 FEt JLE} 72.0




F=H

| Bikes 4 Ll a1

1 XK FEEEL 88. 3 "7
2 AR | dE AR | 86.8 h75
3 g% WA/ SR | 85.5 w75
4 =5 R EL 85. 3

5 B4 R EL 84.8

6 F 1 J7 R 84.5

7 ] ZEBE FEEEL 84. 0

8 X & FEEEL 84. 0

9 fr] N 488 EE R 83. 8

10 frT G HE 82. 8

11 B EREL 81.8

12 R B R B} 81.8

13 X Fe ke FE 79.5

14 B2 FEEEL 75.5

15 AR RE EREL 71.3
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hikes %4 Ll & JEfg 5y

1 X E P HEE 88. 3 w75
2 ) R 4E LA 88. 0 "7
3 XIF] R 83. 0 "7
1 BERg | ZAE/ TR 83.0 75
5 BAE ‘BE 82. 0 7
6 Bl/NR EREL 81.8

7 XA | AR | 81.8

8 [ BE 81.5

9 K i 2 ‘A 81.3

10 fete) ‘HE 80. 8

11 M A W I sk 80. 8

12 B A= R EL 80. 8

13 SR R B} 80. 5

14 A= FE 80. 3

15 TE R EL 80. 3

16 BEA A EL 79. 8

17 oA I = 6 79. 3

18 KR BE 78.5

19 gk 5 F P 73k 76. 8

20 EE 2928 72. 0

21 7K i) aal 65. 0




